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Chaque balance est réglée par le fabricant en tenant compte des 
conditions de gravitation (ajustement géographique) de la zone 
géographique dans laquelle l'instrument de mesure est livré. En cas 
de changement important de la situation géographique, il convient de 
faire corriger ce réglage par un technicien de maintenance, ou de 
procéder à un nouveau réglage. Les balances vérifiées doivent être 
ré-étalonnées conformément aux réglementations nationales en 
vigueur. 
�
�
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Avant de brancher le câble d'alimentation ou l'adaptateur secteur 
(version AccuPac), vérifiez que la tension mentionnée sur la plaque 
signalétique est identique à la tension d'alimentation du secteur. 

 

Branchez la prise secteur  ou la prise de l'adaptateur secteur sur la 
prise de courant, puis branchez l'adaptateur secteur  (Version 
AccuPac) à l'arrière de la balance, par l'intermédiaire de la prise jack. 
�
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Les balances équipées d'une batterie intégrée  (AccuPac) peuvent 
être utilisées indépendamment du secteur. Si l'alimentation secteur 
est interrompue (en débranchant la prise ou en cas de coupure de 
courant), la balance passe automatiquement en fonctionnement sur 
accu. Dès que l'alimentation secteur est rétablie, la balance repasse 
automatiquement en fonctionnement sur secteur. 

 

Le symbole de l'accu indique l'état instantané de l'accu (1 segment 
correspond environ à 25 % de la capacité). Si le symbole clignote, il 
faut recharger l'accu. 

 

Le temps de charge d'un accu entièrement déchargé est d'au moins 
8 heures. Il est possible d'utiliser la balance pendant le processus de 
charge, mais celui-ci est alors plus long. 

 

L'accu est protégé contre toute surcharge. La balance peut donc 
rester branchée en permanence sur le secteur. 
�
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�� ��	� ��� ��� �	������	�� �� ��	��� �� � ��' �	�	���� ���	� ��� ���� ��� �� � 	�O�BP=�8	��
�� ���	���� � � ��	� �	���	��	� ��E ��	�	��� � � 	��*��$� ��	��	��� ��� �� � 	�O�))�&��P=�8	��
�� �� � 	��O P�	��O P��	�� 	��	� ���	��� ��	��� ���	���	��� � �� � �7 �	���� ����=�
��
� � ����� ��	���$� 	��	�� �� ' �� �	2���� � � �	� ��	��� �� E � 	�� � � �7 �	2�� � ���	� �
�� �	� ��� � � � � ��A������ ����	���	���
�=�
�
����; 	� ������� ��� �� � 	�O%��P��� ���' ����	���	�� 	� ��? ���� � �+	���=��� �	�����	� �
�� ��� � ����� � ��� � ��	� �� ���; � � �������� ��� �� � 	�O���P=�
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8	�� � ��	 ��� �� 	������ �*��� ��� ���	����� ��	��	��	��$� ���� � � �	�� � � ��	��� �� � � ��	��	�
�� ���� �	��	��	�� �	�� �� ���' �	��� ���� �	�	� � � �	������ � �� �	=�8	��; � � � �	�� �� �	�
����� ��� � ���$� � ��	����� ��	������ ����	��$� ���� � � �	��� ��' �	��� ���	� �7 �	�� ���� �
�	� � � �	�� � ���� ��	��� ���� �	��	�� � � ��	�� � 1�� � �	=��

;

�<�8	�� � � � �	��� ��	��	�!�*�,������ �� � � ������ ��� � ���� �� ���,���� �	���	�
�	�� �	���
�1	� ��	���-� �� � � 	�>�S ����
!= � �� �	�" �I�0�S �� . � �� ����� � �!���
,= � �� �	�" �I�>�S �� . � �� ����� � �,���
�
� � ����	�	� ����	��� ��	� � � �	���� �	�*��� ���	� �7 �	������	��� � �� � � 	��� ' ���� 	���	�
�� ��	� � � � �� ��	�:/ +2��	���	� ��� �� � � ��	��	��� �� � �� � � 	2�� ���	� 	��	� ��� �� � �� � � 	�*�
� � �� =�:� � ���	�� � ���	��� � �� � � 	��� � � � � �� � 2��	��	�� ���*��� ���� �	��� ��������� � ��	�
	���� ��� � � ��' �	��� ��' �	��� �� � � ��	�	����	���� 	=�
�
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�$� ���� � � �	&������ �� ���	2�����===�
�
�

 

�
===����	� ��	��� ����� 	��� ���� � � 2�	��� ���; 	� ������� ��� �� � 	�O P=�
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8� ��� �� � 	�O P��	�� 	���$� ���� � 	���	��� ����� ���	��� ��	�� 	�	� �� � �	�� � � ��@ �	2�
� $	�� * ���	�� �	� ��� 	��� �� ����� � ����� ��	��	=��

;

�<�:� � ���	�� � ���	��� � �� � � 	��:/ +2��$� ���� � � �	���� �	� �	��� ��� �� ����� � ��� �
������ �	�� 	=�:� � ���	�� � ���	��� � �� � � 	��/ � � � -�� � 2����� ���� � 	��� ��� �� ����� � �
� �������� 	��� ��!" =�8	�� � �	�� � � ��@ �	�� $	����� ������� � �� �	������ ��� �� ����� � �
� � 1�� � �	�� ��� 4*�� �� ��� �	� ��� � � � 	��� � ��? ���� � �+	����%� � � ����	�C&2�

����; 	� ������� ��� �� � 	�O�
6����P��� ���� ���� � 	���� ��� �	���� � ; 	� � 	��	��� �
�	�� 	2�� �������� ��� �� � 	�O��&P��� ����	�	� ���� ��� � �	�� � �� � ���	��	�� 	=�8� �
�� �	���� � ; 	� � 	�� � ��	��� � ��� ���� ����� � ; 	� �� 	���� ������� 	����� 	��$	� ���� � �
," ��	� � � �	�=��
�
�
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�� �	=�8	���	�1��� ���� ����� ���� � ���� � ���	��� � �	��� ��=��� �� ���	2����	����� ���� �	��	��� �	�� �� 	���� �� �� � 	� ���	��� ����� ����	���	�
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� �� � 	� ��� �� � ��7 �	�*��	�	���� � ���	��� � ���	� �2�����===�
�

�

===����	� ��	��� ����� ��%�� ����� 	���	��$� � 4	���	�� &=�
�
;

�<�8	��� �����	��� ��� �	�	���� � � � ���� �4��' �$*�� 	�' �$�� 	�� � ��	��	��� �	��� ���
�� �	�� �� � 	�� ��' �	��� �� � �� � � 	��� ���� ��	�*�� � �� �� ��� ��E �� 	=�+���� ��� � � ��� � ��	�
�� �� �	�� ��� � � ��' �	�	���� � ���	2��� ��� �	�	���� ��� � � ��' �	� 	� ��	��� � � 	��� ��' �	��� �
�	�� 	�	���� � � 	�� 	�	��' �	��	���� �	� ���	��	�� 	�	������	=�8� �� � �� � � 	�	���� �� ���
��E �	��� ����	��� �� �	�	���� ��	�� 	������ � ��=�
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�<�O7�P�� $	����� ���� ��� �	��� ���� �� ��2�� � ���� ��� ��� ��� � ��	��� ��� �	��	���
� �� �	� 	� ��E ��	��� ���	�	� �� � �	��	��� ���	��� ���	�%�� ���� � � ����	�0=!&=�� 	��	�
�� �� � 	���� ��� � � � � �	��� ���E ��	��� ��� �	��� �� �� � 	� ���� � ��? ���� � �+	���=�
. 	�� ��	�  �� ���� ��� � � ����	�C=C=>��� ����� ��� ��� ���� � ��	��� ��� �� � 	�
��� ��� � � � � �	�O7�P=�? � ������ ��	�	� �� ��� � � ����	�C=0=,��� ��� ��� � ��	��� ��	��
�	���� �� � 	����� ��� � � � � �	�=������; 	� ������� ��� �� � 	�O P��� ���� ���� � 	��
�$� ���	���� �� � 	����� ��� � � � � �	��	�������� ��� �� � 	�O �P��� ����	�	� ���*��� �
��	� �7 �	��� �	��	���� �� � 	����� ��� � � � � �	�=�
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����; 	� ������� ��� �� � 	�O7�P=�
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===�� ��� �� M��*��$� � �� � =�
�
����; 	� ������� ��� �� � 	�O;
�*���P��� ����� ������	��� �����	��� ��� �	=�+���� ���
�� ��	� �������	���$� ���	���� �����	��� �	2��� ����� ��	� �� ���; 	�������� ��� �� � 	�
O��������P�	���	���� ����=�8	���� �	�������� � 	� �� ��	���� � ��� 4� ��� 	��*��� ��� �	�
	��	� ���	=�8� ��� �� � 	�O�
���-/P�	��� � 	��� ��	�� �7 �	��� �	���Q
� �	�� ��U��� ���	=�8� �
�� �� � 	�O�))�&��P�	��� � 	��$	� �	� � �	��	��� ��� �	=�
�

� �
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� �� ��	��� �� � ��' �	2��� � ���$�� ��� ��	��	�� 	�� � ��	��	�	���� ���	� �	� �� ���; � � ������
�� ��� �� � 	�O�BP=��
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����; 	� ������� ��� �� � 	�OE��
P=�� 	��	��� � � ��� � ���� �� ' �	��$� ���� � � �	������ ����
� ����%�	��; � � � �	�QER�� ��� �� M��	���	� ��� � 	��	��; � � � �	�Q;�
R&=�
;

�<�OE��
P�� $	����� ���� ��� ���� ���� �� ���	���� ���E ��	��� ��� ���� �� �� � 	� ���� � ��
? ���� � �+	���=�. 	�� ��	�  �� ���� ��� � � ����	�C=C=>��� ����� ��� ��� ���� � ��	��� ��� �� � 	�
��� ��� � � � � �	�OE��
P=�
�
Après quelques secondes, la balance revient automatiquement à 
l'affichage du poids net. 
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�� ���� � ��' �	�%�� ���� � � �	2�� ���� � �	��&=�8$�� �	��� � 	�,�	���� � � ������ 	�	� ����� 	�
�� ����	��� � � � ��	� 	� ���$�� 	��� ���� � � �	=�
�
� � ���� � � ����	���	���� ����� ��� � ��� � � � 	�� � � ���� �� � � ������ ��� � ��	���� �	��� � 	�2�
�	�� ��	�  �� ���� ��� � � ����	�C=0=9=�
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... est affiché (valeur par défaut pour Ref X = 10). 
)� �	�)� �	�)� �	�)� �	��La valeur par défaut pour „X“ de Ref X peut être définie dans le 
Setup (voir chapitre 5.5.1) 
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Retirez le nombre de pièces de référence du récipient de pesée. 
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�$�� ��	���� � ��� ���� ���	���� � ���	�%� � � ����	�C=C=9&2��	�� �� � �� ������ �2��	��� ����� 	��
	���	�� � � � �	��	���7 � 	���	�� � ���� ���� � ��� ��� � � ��' �	� 	� �=�
�

 

�
� �� � 	� ��� �' �� � ���� ��� ���� 	�����	� � � ���� �������� �� � �� � � 	�	��� ���; 	� ������� �
�� �� � 	�OIP��� ���	��	� ��	���� 	�� � ��	��	�� ������ � 2�� �������� ��� �� � 	�O:P��� ���	� �
	��	� ��	���� ��� ����� � ��� � =�
�
 



/ �

8�. �

 8�:
 �? ��	��+� � ���� � �� �� � � � ����	�9�������� � ��� � ��

� ���

�

�

 

�
����; 	� ������� ��� �� � 	�O�P��� ������ ��	���	�� � � � �	��	��� ���*�� �� ��	�=�
�
�
+����5���	����� ��� �2�����	�� ��� �' �	� 	� ���� ���� �	��	�� �� ��	��� ��� � ���	��� ���
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�
����; 	� ������� ��� �� � 	�O�
���-��P��� ����	4	�	���	��	�� �	���� ��� 4� ��� =�
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Standby / weighing mode

après mise en marche ..

appuyer
longtemps�

mot de passe

Entrer mot de passe
terminer par touche . . .

Balance

Chapitre 5.3.1

Application

Chapitre 5.3.2

Indicateur

Chapitre 5.3.3

Communication

Chapitre 5.3.4

Diagnostics

Chapitre 5.3.5 �
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AComptage Base de donée Identification Totalisation

Imprimé

Com 1..3

Impres. lot

Impres. auto OFF

Standard

Format 1

Format 5

Impres. finale

Impres. auto OFF

Standard

Format 1

Format 5

Summaire

Non

Oui

Atteinder Zéro

Non

Oui

Mode

Manuel

Auto +

Auto -

ID 1

Imprimé

Edit Printout text

Touche prog.

éditer texte des touches
programmables

Article

Indication

éditer texte d'affichage

Touche prog.

éditer texte des touches
programmables

Recherhe critère

Par Nom

Par nombre

Mot de Passe

éditer Mot de Passe

Eff. B. Données

Commencer?

êtes vous sûr?

Vue d�ensem. ID

Non

Oui

Accés

Interne

Externe

Echantillon_X

Valeur

éditer Valeur

Geler

Non

Oui

Guide utilisateur

Prompting actif

Non

Tare/échantillon

Échantillon/tare

Déf. par l�utilisat.

Mains libres

Déf. User Promp

Etape 1

Etape 10

Prompt Texte

éditer Prompt Texte

Prompt Fonction

Non Utilisé

Tarage

Tara auto

Auto Bal. 2

Effac. auto tare

Zéro

Zéro auto

Référence

Auto Référence

Imprimer

Impression auto

Effacer APW

Effac. auto APW

ID 1

ID 2

ID 3

Article

Balance 1

Auto Bal. 1

Balance 2

Application

Ref. Pds. Min

Non

99.5%

97.5%

99.0%

Réf. Opt. Auto

Non

Oui

Réf. Auto

Non

Oui

B

Effac. auto APW

Non

Oui

Affich. précision

Non

Oui

Total Pieces

Balance princip.

Balances ensem

ID 3

Imprimé

Edit Printout text

Touche prog.

éditer texte des touches
programmables

ID 2

Imprimé

Edit Printout text

Touche prog.

éditer texte des touches
programmables

Non

Qui

Effacer avec �C�

Non

Qui

Effacer avec �C�

Non

Qui

Effacer avec �C�

�
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Imprimante

Impression auto

Pesage cont.

Dialogue

2ème affichange

Balance de ref.

Balance princip.

Balance auxiliare

Pesage Toledo

Comptage Toledo

E/S numérique

C

Paramétres Definir E/S * RAZ Com

Type imprimante

ASCII

LP 2842

LP/TLP 2844

MT 8807

MT 8808

MT 8857

MT 8863/8867

Autre

Standard

Format 1

Format 5

* uniquement si le mode est
   imprimante ou Auto Print

Format

ASCII Format *

Multiple *

Format ligne

Simple *

Baud

300

600

1200

2400

4800

9600

19200

Parité

7, sans

7, impaire

7, paire

8, sans

Handshake

Non

XonXoff

Réseau 422

Réseau 485

Adresse réseau*

0

31

38400

8, impaire

8, paire

Total contrôle*

Non

Oui

* peut être choisi
    uniquement en
    Net422/Net485
    Handshaking

* peut être uniquement
    choisi si le mode est
    Pesage Toledo ou
    Comptage toledo

* Com 3
seulement

57600

115200

< plage-

* uniquement si le mode est Digital I/O

éditer < plage-

< Tol- éditer < Tol-

Bon éditer Bon

> Tol+ éditer > Tol+

> plage+ éditer > plage+

Sortie non éditer Sortie non

RAS E/S

êtes vous sûr?

Commencer?

êtes vous sûr?

Z

Mode Imprimante *

Commencer?

Long. de ligne

éditer
Long. de ligne

Séparateur

éditer
Séparateur

* uniquement si le mode est ASCII

* uniquement si le mode est Multiple

* uniquement si le mode est Simple
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�
� � � ����	� ��	�� � � ����	�C=0=!=�' �� � ��*��� �� � �� � 	�*������	��� ���� ��	�� ��	��$� ���� � ����� 	� ��Q ? ���� � �+	������-�8�)� �R�	��*��� �
� � ���� ��� � �� ���	�� ����� 	� ��Q ? ���� � �+	���R=�
�

�

Cet écran montre un aperçu des 
paramétrages les plus importants de 
la balance. 
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� 	�� � � �� � � � ���� � 	� �� � � �	�( �� �	��
�� �� � 7 ��	�� �	�� ����� �� �� ��� � ��� �� ���
�$� ���� � � � � ���	2� �� �� 	1	� ��	� � 	�1� �	� �� �
� � �� � � 	� !� ��� $-� �� � � 	� !$� 	��� � � ���	� %�� ��
	1=�� ���� � � �	� ����� ����� � � 	&=�

�

�� � � �	� �� ��� 	� ��-�8�)� �2��� �	� ��� � � 	� ��� �� � �� � � 	�� ���� ���� 	�%� � �� � � 	�!�
� ��,a�� � �	� �' �	�� 	��� ���� 	� ��� ��� �� M���� �' �	� 	� ������� 	��	� � � �	�� � �� � � 	�
	����� ��� ��� 	�� �	� ��$� ���� � �� � � �� ��' �	&�	��� � � �����	� ��$�� 	��	���� � � ��� � ������� 	��
� � �	��� ��=�
�
D � � � ��� � ��	���� �� � 7 ��	������� � �� �	���

. � ��	��� �� �� � � 	���� �� � �� � � 	� �� � � � ����	�C=9=!�

� �� � ���� � ��$� ���� � � �	�	���� ��� ��	��	�� �	� �� � � � ����	�C=9=,�

� � �� � 7 ��	���	��� �� �	�� �� � � � ����	�C=9=0�

� � ��	� ��� � �� ��� � � ��' �	����� � �� � �� � � � ����	�C=9=9�

�� �	�����	� 	� ��� ��� � � ��' �	��	��� ��� �	�
�	���	���� �	����� � �� � � �� � � � ����	�C=9=C�

��� ��� ��� � �� �1�� � � ����� � ��	� ���� � � � � �	��
�	��� ��� � �	��	��	�� �	� �� � � � ����	�C=9=>�

. 	��� ��� ��� � ��	���� �	�����$� ����� 	��	���
�� �� � 7 ��	��$-�8�)� �$� �� � � � ����	�C=9=A�
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Cet écran montre un aperçu des 
paramétrages les plus importants du 
terminal. 
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��P2��� ���� � ����	���� �
�� �	����	�. 	��V =����7 ��� �� ���� � � � �� �$�� � � � ����� � W V $2��� �' �� � ���� ��	��� �� �	� � 	�
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Ce paramètre détermine si l'utilisateur veut être guidé à travers des 
étapes prédéfinies, ou s'il veut travailler de manière autonome. 
L'utilisateur peut choisir entre un guide utilisateur prédéfini ou choisir 
librement l'ordre des opérations. Si le guide utilisateur prédéfini est 
activé, les étapes à exécuter sont affichées en alternance avec le 
barre-graphe.  

Le 'guide utilisateur actif' est désactivé par défaut. L'utilisateur peut 
alors choisir librement l'ordre de ses opérations. 

L'utilisateur dispose des modes suivants (prédéfinis) : 

J ���	�������� �	������ �� ��� ���%� �� � ���� ��� � ���&�


� �	��� � � � ����� � �  � :� � ��� 	��	�� � � ������ ��� � 2�+� � ���� � �� ������	��
� � �$������� �	���*���� �	����	���� � 	������	�� � � ��� �	�	� �
� � ������� � ���� �� � �� � �	�
� �	� c ��� � � � ����� � =�

�� � � � ����� � �
� �	�  � :� � ��� 	��	�� � � ������ ��� � 2�+� � ���� � �� ������	��
� � �$������� �	���*���� �	����	���� � 	������	�� � � ��� �	�	� �
� � ������� � ���� �� � �� � �	��� � � � ����� � � c �
� �	=�

/ � �� ����� �	��  � :� � ��� 	��	�� � � ������ ��� � 2�+� � ���� � �� ������	��
� � �$������� �	���*���� �	����	���� � 	������	�� � � ��� �	�	���� �	�
� � � ��� � � ��' �	� 	� ���� �� � �� � � 	��	��� ��	�' �	��$������� �	���
� � � $� ��� ��� 	�� �� ��$� ���; 	�������� ��� �� � 	�O�
�P=�

� 	��� � � � ���� �  � � 	��	��� � � ��� � ��	�� 	��*��$������� �	����	��� ��� ����� ��
� � ��� ��	��� ' �	� � 	=�8	���� �� � � ��� �	���	�� �����*�� 	��
� � � � �	��	��	� ��E ��	��� ��� ���� ���$:	�=�<�	��� �� � ��$=�
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������(<�(Def. User Prompt) 

Le guide utilisateur personnalisé permet au superviseur de définir 
une séquence déterminée. L'utilisateur peut exécuter une séquence 
complète en suivant les étapes définies. 

Sélectionnez la fonction 'Def. User Prompt'. Vous avez maintenant la 
possibilité de définir une séquence étape par étape. Sélectionnez 
d'abord 'Etape 1'. Vous pouvez saisir un texte pour l'utilisateur 
(instructions) et définir la fonction correspondante. 

�5�����<�� �

 Etape 1: 

 Texte util.  � Posez le récipient sur la  
   balance 

 Fonction util.  � Tare auto (la balance est tarée 
   automatiquement) 

 Etape 2: 

 Texte util. � Posez le produit sur la balance 

 Fonction util. � Impression auto (le compte-
   rendu est imprimé auto- 
   matiquement) 

%
�&
�
��<�

�
)� � �������� � ���� �� �� 	��� � � ��� � �


� �� �	� ���8� �� � �� � � 	�� ��	� ���� ��� ���	��$�� 	��� �	�


� �	�� ��� � ���
� �� �	�� ��� � � ��' �	�� ��7 ���	�� � � � �	� 	� ���	��� ����

�� � ��=��� �	�� ��� � ���8� ��� �	�	���� � � ��� 	�� ��� � � ��' �	� 	� ���� �������	�� ���
� � 	� ��� ����� � �� � �� �

. 	�� ���*�� � �� � ���8� �� � �� � � 	�� ��	� ���	��	�� ���*�� � �� �

. 	�� ���*�� � �� �� ��� � ���8� �� � �� � � 	�� �� � ����� ��� � � ��' �	� 	� ���	�� � �� �

. � �� �	� � 	� ���8� �� � �� � � 	�� ��	� ���� ��� �� � ��� � ��	��� ��� �� �	� � 	�

. � �� �	� � 	�� ��� � ���8� ��� �� �	� � 	�	���� �� � ��	�� ��� � � ��' �	� 	� ��� �	� ��� �
� � �� �	����	�� ��� �	��� ���. 	�W V �

6� ���� 	�� ���8� �� � �� � � 	�� ��	� ���$� ����������� ��� �� � 	�6� ��	���� � �

6� ��	���� � �� ��� � ���8$�� ��	���� � �	����� � �	� � � � 	�� ��� � � ��' �	� 	� ���
� � � ��7 ����� � ����� ��� � �

�� � ��� ��� � �. 	��J � ����� � ��	��	��� �����	��� �� �	� � 	�

�� � ��� ��� � �. 	��� ��� � ����� � ��	�� ��� � � ��' �	� 	� ���	��� �����	��� �� �	� � 	�

6:�0� ���:	�� ������ � ��	��$6:�%����$6:�� �� �� ��	� � � � � 	2��	�� � � �
� � � � ��	��� � �� � ��� ��� �� M��*��� ���� � 	��	�6:&�

����� �	� ���:	� � � �	��� ��	� ���	��$�� �� ���� �	��� � ���� �� � �	��	�
� � �� � � � 	��

-� �� � � 	�V � ������	� ���	�� � �� ��	� 	� ���	����� �� � �� � � 	�V �%V Z !�� ��,&�

-� �� � � 	�V �� ��� � ���-� �� ��	�� ��� � � ��' �	� 	� ���	����� �� � �� � � 	�V �%V Z !�
� � � ��,&�
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Lorsque ce paramètre est réglé sur U
 � R, le poids unitaire moyen�est 
automatiquement effacé dès que l'on enlève la charge de la balance, 
sans que l'utilisateur n'ait besoin d'appuyer sur la touche «�»= 

�� ���	� ��$	��� � 	� 	� ��� ��� � � ��' �	������ ������ ��� ��	�� � ; 	� �	� �� � � ������ � ��U
 � R�
� ���� �� � ���	�  �	�	� �� � � ������ � ��U
 ��R=�
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informations à partir de la balance. Si cette valeur est réglée sur 
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���“, les informations sont émises en permanence. Si cette 
valeur est réglée sur „�
����“, les informations ne sont transmises 
que lorsque le poids est stable.  
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Cet écran montre un aperçu des 
paramétrages les plus importants du 
terminal. 

 

�
� 	��� � �� � �� ���� � 	��� �� �	�( ���	��
�� �� � 7 ��	���	��������� �� ��� � ����� ���
�$� ���� � �� � ���	2��� ��	1	� ��	�� 	�1��	�
�$� ��� �	������$���� �	��$�	���� � ����%�� ��	1=�
� ���� � � �	� ����� ����� � � 	&=�

�� � � �	� �� ��� 	� ��
�. / 6)�8�%O P&�	��� � � �����	� ��$�� 	��	���� � � ��� � ������� 	��
� � �	��� ��=�

Fonctions et paramètres disponibles: 

. � ��� �	���	��� ��� � ��	� �� � � � ����	�C=>=!�

D � � � ��� � ��	���	� � �� � � � ����	�C=>=,�

� � � ��� ��	� � �� � � � ����	�C=>=0�

6� �	��	�� � �� � � � ����	�C=>=9�

����� � � �	������ ���� � �� � � � ����	�C=>=C�

:� �	�	��� 	��	� � �� � � � ����	�C=>=>�

+��� � ���� � � �	� � �� � � � ����	�C=>=A�

�

�

�/ /� �(-��-�����������-���C����.;0����0�����������-��D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����	�� � ����	���	���� �� � 7 ��	����� � ���' �	��*��� ��� � ��	���	��� �� � �� � � 	=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8������� �	�����8� � ��	R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
� � � ����	�C=0=0=�
�

 

�
����; 	� ������� ��� �� � 	�O���
��P��� ���� � � � �	��� ��� 	� ���	��� �� � � ��� �	��	��� �
�� � ��	=�

 

�
<�����	� ��	���� �� � 	��O P�	��O P��� ����� �	� ��� � � 	���� ��� � ��	��� �� � ��� 	�	��
� ���; 	� ������� ��� �� � 	�O�BP=�



/ �

8�. �

 8�:
 �? ��	��+� � ���� � �� �� � � � ����	�C��? ���� � �+	����

�  ��

�

�
�

�/ /� %
�&
�
��*������C����.;0����0����������������D�

�
+���� �� � �� � � 	�	���� ��� 	� �� 	�	1� �����	� 	� ���� ���$� � � ��	��� $	����� ���	��� 	�� ���	� �	��2�� 	��	��� � � ��� � �	����� ���� ���7 �	� 	� ������	�
�� ���� � � � � � ��	���$� � 	���	=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8������� �	�����? 	���	R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
� � � ����	�C=0=0=�
�

 

�
����; 	� ������� ��� �� � 	�O���
��P��� ���� � � � �	��� �1��� �� � � ��� �	������� � �� �	��
�� ����	�� 	� ���	���	=�

 

�
8� �� � �� � � 	��$� �	�� ��� ��� � � ��' �	� 	� ���� ��' �	��	��	� ����� �	� ��� � � � �	���� � � ��� =�

�
�

�/ /� �(-��-�����&
�
���
������	�))�&,�-��C����.;0����0�����������
�
���
�D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����	��� ��	���	�� � � ��� ��	���	��$� � �� � ��$� ���� � � �	=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8������� �	����� � � ��� ��	R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
� � � ����	�C=0=0=�
�

 

�
����; 	�������� ��� �� � 	�O���
��P��� ���� � � � �	��� ��� 	� ���	��� ��� �	����
� � � ��� ��	=�

 

�
+� �	� ��� � � 	� ��	�� ��	� ���	�� � � ��� ��	�� �	� ��	���� �� � 	��O P�� ��O P=�����; 	� �
������ ��� �� � 	�O�BP��� ���� � � ���� 	�=�

�
�

�/ /� .�*����
������	�))�&,�-��C����.;0����0����������.�*�����D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����	��� �	� ��� � � 	���� ��� � ���$� � �� � �� �� � � �� ��� � ����� ����$� � �� � ��$� ���� � � �	=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8������� �	����6� �	��	�R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
� � � ����	�C=0=0=�
�

 

����; 	� ������� ��� �� � 	�O���
��P��� ���� � � � �	��� ��� 	� ���	���� �� � 7 ��	��
�$�� �	���� � ��	��$� ���� � � �	=�
�
� � � �����	� ��	��� ��� �	��� �� � ��� �%
 ���� ��)� � &�	��� ���; 	� ������� ��� �� � 	�O�BP�

�� ����� ���	���� ��� �	� ��� � =�
�



� � � ����	�C��? ���� � �+	���� / �

8�. �

 8�:
 �? ��	��+� � ���� � �� ��

 ��

�

�/ /� �
��)�&�
�
��������
����������	�))�&,�-������
����C����.;0����0����������0))�&,�-��
�
���D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����	��� �	� ��� � � 	���� ��	����� ���� ���� � ��� ���� � � �	������ ���������$� � �� � =�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8������� �	��������� � � �	��� ���R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$�
�� ���� � � ����	�C=0=0=�
�

 

�
����; 	� ������� ��� �� � 	�O���
��P��� ���� � � � �	��� ��� 	� ���	��� �� � � ��� �	��	�
�$� ���� � � �	������ ���=�8	��� �� � � ��� �	��� ���� �� ���	���$�	���$=�
�

 

�
+� �	� ��� � � 	� ��� ��� ���	��� �� � ��� 	2������� ���; 	� ������� ��� �� � 	�O�BP��� ���
� � � ���� 	���� ��� �	� ��� � =�
�
;

�<�8	�� � � � �	� 	� ���	�� � �	��$� ���� � � �	������ ����*��$� ��	��	��� ��� �� � 	�
��� ��� � � � � �	�OG������))�&,�-�P�%� � � ����	�C=C=>&�� $� ��	� �	��� ��� 	��� ��� �	=�
+���	�� � �	�� �� �� �� � � � �� �*��$� ��	��	��� ��� �� � 	���� ��� � � � � �	�OG�����
�))�&,�-�P2��$� ���� � � �	��� ��	�	� ���*�� 	��� �� � � ��� �	�� ��7 ���� �� ��	�	� �� � �� � 	�
�	��� �� � �� � � 	�� ��� ��7 ��� �� ���' ����� �? ���� � �+	���=�

�

�/ /  �(-��-����������
���
�����	,�����C����.;0����0������������
��A����D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����	��� ��	���� ��� �	�	���$� 	��	��	��� �� � �� � � 	=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8������� �	����:� �	�G 	��	R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
� � � ����	�C=0=0=�
�

 

�
����; 	� ������� ��� �� � 	�O P��� ���� � � � �	��� ��� 	� ���	��� ��� �	��	��� ��� �	�	��
�	��$� 	��	=�

 

�

����; 	� ������� ��� �� � 	�O���
��P��� ����� ��	���	��� �� � ������<+�� ���<=�
+� �	� ��� � � 	� �:� �	��� ���� � � � �	���� ��� �	�	��G 	��	��� ���� � ����	���$� 	��	��	��� �
� � �� � � 	=�? � ���	� ��� ��O�BP=�

�

�/ /! 0&
�*�
�
�������-�����
�
���C����.;0����0����������E��D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����$� � ���	��� ���	��� �� � ���	���	����� � ���� � � �	�' ����	�	� ����*�� � � ' �	���	���� � ������� 	�
�� �� � 	=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8������� �	����-��R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�
C=0=0=�
�

 

����; 	� ������� ��� �� � 	�O����
���P��� ���� � � � �	��� ��� 	� ���	��� ��� �	����� ��=�
�
� � � �����	� ��	��� ��� �	��� �� � ��� �%
 ���� ��)� � &�	��� ���; 	� ������� ��� �� � 	�O��BP�
�� ����� ���	���� ��� �	� ��� � =�

�



/ �

8�. �

 8�:
 �? ��	��+� � ���� � �� �� � � � ����	�C��? ���� � �+	����

�  ��

�

� ��  �()���
�
������

���������������*������C����.;0�����

���������D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����	�� � ����	���	�� � ���	��� ��	����	����	����	��� �� � �� � � 	=��1� �����	� 	� ��� � � 	���� �	�*��� �
���	����	��=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8����� � 7 �R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�C=0=0=�

 

�
����; 	� ������� ��� �� � 	�O P=�

 

�
[ ������� ���; 	�������� ��� �� � 	�O���
��P��� ���	� ��	���� �� � ��	� ��� � ���	��� ��	=�

 

�� ��	� ��	�� � ���	��� ��	�*��$� ��	����� �� ��	�2������� ���; 	� ������� ��� �� � 	�O�LP�
�� ����� ���	�=�$. 	�� �	��/ �� $��$� ���� � 	=�. 	�� �	� ��	�� � ��	� ��� � ���	��� ��	�	��
� ���; 	� ��� 	�� � ��	��	��� ��������� ��� �� � 	�O�LP=�
�

�� �� � ���$� �� ������� � ���	��� ��	2�� ���; 	����� � 	����	� 	� �������	���� �� � 	��
O���P2�O���P2�O���P2�O P��� ���� � � � �	��� ��� 	� ��? ���� � �+	���=�

 �

;

�<��� ��� ���	��$���� 	2�� �� �� �� � ���	��� ��	��	����	����	���� $	����� ��� �=�:� � ��
� 	�� � �2��	�� � ���	��� ��	����+��	����	���	���	�� � ���	��� ��	��	��$������� �	����� � ��
��	� ��' �	�=�

+���� �� � ���	��� ��	��	����	����	���� �� �� ��� ��� �2��	�� � ���	��� ��	��	�
�$������� �	���� 	��	�� 	���$� � � � �	��' �$*��� ��� � � ��� � �
	�� �� � �� c ����� �	��=�
� ��	��
�	��� ���	���� � � ��� � ��� 	��	��	� ��E ��	�	1� � ��� 	��' �	��� ���	����	����	��L��

�
�

� ��  ���
����
�
������*��������	
��-�������������'
����C����.;0�������
D�

�
� 	��	��� � � ��� � ��	��� ��	��	���� �� � 7 ��	���$� ����� 	����� �� � �$
�. / 6)�8$=�8	�� � ���	��� ��	����	����	���%$
�. / 6)�8����� � 7 �$&�
� 	��	�� ��� ���� ���� ���� 2�� � ����� �' �	� 	� ���	�� �� � �U���� �	��R=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������
�. / 6)�8���. 	�	�R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�C=0=0=�

 

�
����; 	� �����O���P��� ����	��� ��	���	���� �� � 7 ��	���$� ����� 	�����	�� �� � �=�+��
$+<. b $��$� ���� � 	2�� ���; 	� �����O���P��� ����� ���	�=�8	���� �� � 7 ��	������	�� �� � ��
�� � ��*�� � ��	� ���	���� �� � 7 ��	���$���� 	=�

�
�



� � � ����	�C��? ���� � �+	���� / �

8�. �

 8�:
 �? ��	��+� � ���� � �� ��

 ��

�

�

� ��  7����'
�������&
�����&�
�
��C����@;.�0�.�;�D�

�
� 	��	��� � � ��� � ��	�� 	��*��$������� �	����	�� � ����	���	���� �� � 7 ��	����� � ���' �	��� �1��� ���� � ��' �	���	��� �� � �� � � 	=�:	������� �	� � 	��
	1���	� ���	�� � ��	��� ' �	���$� ���� � ���� ��� ��� 	��%� ���� � �� � � �� ��' �	�� ���� � ���� 	�� 	��� ���� � �<+-&=��
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������� 
 / / <)6� �
6
 )R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�C=0=9=�

�

Cet écran montre les paramétrages 
les plus importants concernant la 
communication entant que 
prévisualisation. 
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? � ���� �	� �� �� �	� 	� ���� ��� ���� ����� ��	�� �� 	���	��Q D � �� � ��U=�+� �	� ��� � � 	� ��	�
�� �� � ��*�� � ����	�2������� ���; 	� �����O P=�����; 	� �����O���
��P2����������
O P��� ���� � ����	���	���� �� � 7 ��	���	�� 	��� �� � �=�+� �	� ��� � � 	� �Q)� � U�	��
� ���; 	� �����O���
��P��� ����	� � � � 	���	��� �� � �=��
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+� �	� ��� � � 	� �Q:� � � � 	�U2��� ����� ��� ����$�� �� �� � ��� � ��� �� � ��� 	��� ����� ����� 	�' �	�
�� ����� ���� �	� ��� �	� ��� � � � 	=�? � ������ ��	�	� ��� 	�����	�� � � ��7 �	��	��� ��	���	��
�� � � ��� � ���� � ��� �� � �	�� 	� � 	��	��� 	� ���%� � � ����	�C=0=9�� � � � �� �� � ��� � ���
:� ��� ���	�  �E �	���D � �� � ��! C�������	����8��� 	�! ,0���:� � � � 	�&=�
�
�
�
�
� � � �����	� ��� �Q � � ��� 	U2��� ���� � ����	���$� ��� �	� � 	��	��$�� ��	���� � =�%� 	��	�
�� � � ��� � �� $	����� ������� � �� �	��� ����	���; �	���$�� ���� � � �	��$�+� 66$�	��$����	�$&�
�
�
�
+� �	� ��� � � 	� �Q / � ��	��� �� � 	U2��� ����� ��� ����� ��� ��	����	��� �� � ��	��	��� �� � 	=�
%� 	��	��� � � ��� � �� $	����� ������� � �� �	��� ����	���� ���� � � �	���	��; �	�$����	�$&�
�

�
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� 	��	1	� ��	���� �	� �	��� �� � � ������ ��� � ��$�� 	��� ���� � � �	=�8$�� ���� � � �	�������� 	�	����� 	��� ���� � � �	��$� ��' �	��	��%H	� �� �8� �
,B,9&=�
�
. � � � � ��	� ��$�� ���� � � �	�*��� �+� � ���� � �� �2�� � � �� �� � � 	� ��� ��� � � �	���$������� ��� � ��	��$�� ���� � � �	=��
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+� �	� ��� � � 	� ��� � ���	�� 	� ��Q ? ���� � �+	���U2��� ���Q � 
 / / <)6� �
6
 )U2��	��� ���
� 
 / �� �' �	���� ���� �	� ��� � � � ��� ��� ��	��� ���� � � �	=�:� � ��� � ��	�	1	� ��	2����
�$� ��������� ���� 
 / �!�%� 
 / !&=�����; 	� ������� ��� �� � 	�O P=�
�
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+� �	� ��� � � 	� �Q / � �	U�	��� ���; 	� �����O���
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+� �	� ��� � � 	� �Q 6� ���� � � �	U�	���� ���	� ��� ��O"# P=�
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8� ��� � � ��� � �Q 6� ���� � � �	U�� ��� �� M���� � ���� ��� �	� ��� � =�+� �	� ��� � � 	� ��� ��� � � ��� � �
	��� ���; 	� ������� ��� �� � 	�O P=�
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; �	��$�� ���� � � �	U�	��� ���; 	� �����O���
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? � ����� ��	� �� � � ������� ��	��� ���� � � �	=�:� � ��� � ��	�	1	� ��	2�� � ���� �� � ��
� � � ������ ���� � � �	�Q8� �,B,9U=�����; 	� ������� ��� �� � 	�O"# P��� ���� � � ���� 	��
�� ��	�� � � �1=�

 

+���� ����� ��	� �������	���	��$D � �� � ��$��� ����� ��	��� ��	���� � 2��� ����� ��	� �
� �� �	� 	� ���	��� ��	� �	��*��� ���� � � 	� ��*��$�� �	��� � 	��	��� � � � 	��
� � ��	��� � �� � �	=�+� �	� ��� � � 	� �Q D � �� � �U�	��� ���; 	� �����O���
��P=�%? � ���
�� ��	� �� �� 	���	���� �� � ����� � ���	�� 	� ��Q ? ���� � �+	���U��� ���
Q � 
 / / <)6� �
6
 )���6� ��	���� � �:	�=U&�
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? � ����� ��	� ��� �	� ��� � � 	���	��� �� � ���� �� � ��� =�� � ���� �� ��2��	��� �� � ��$+�� � �� ��$�
	���� � ���=�

 

. 	� � � �	� ��$�� �� ��	� ���� � ���	�� 	� ��	� �� ���; � � �������� ��� �� � 	�O$��
 % �P2�
������� �	� ��� � � 	� �$�� � �� � 7 ��	�$=�? � ����� ��	� �� � �� �	� � � ���� ��� ����	��
�� �� � 7 ��	���	����	��	�%$-� ��$&2��	��� ���� �	���	�� � � ��@ �	��	����1�
%$G � � ��� � S 	$&=�? � ������ ��	�	� ��	���� � � � 	��� � ��	� �	���� � ���	�� � � �	��
�$������� ��� � ��	��� ��	��� ���� � � �	=�:� � ��� � ��	�	1	� ��	2��	���� �	����� � ��� �� �
�� �	�� �� � 	��� � � � 	��� � ���$� � �� � ���� �	� �� �*��� �� � 	=�

;

�<�+�2�� � � � 	��� � ��� � ��	�	1	� ��	2��� ����� �	��$�� ���� � � �	�	�������� � �� �	�
�� ����� ��	��� ���� � � �	2��	���� �� � 7 ��	��� � ��	��� � �� � ���� � ���� �	�� �� � ��
� ��� � � ��' �	� 	� �=�

 �� ��' �	��� �� � � ������ ��� � ��	��� ��	��� ���� � � �	�	����	�� �� � 	2�� ���; 	� ������� �
�� �� � 	�O&�� P2������� � � ���� 	� �	� �� ���; � � �������� ��� �� � 	�O"% �P��� ���
	� �	�����	���� ���� �� � 7 ��	�=�

 �

8� ��� �� � 	�O P��� ����	�� 	���� �� �� � ����	��� � � �	���� ���� ��	���� � �=�
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�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������:6�J )
 +
6� +R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�C=0=C=�
�

 


 ���	� ��	�� 	� ��:6�J )
 +
6� +�%O P&�	��� � � �����	� ��$�� 	��	���� � � ��� � ��
����� 	��� � �	��� ��=�
�
%
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�
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	������� �� ��	�� � �� � � � ����	�C=!" =!�


	����	��$� � �� � ��$� ���� � � �	� �� � � � ����	�C=!" =,�

)�� � �� ��	��� ��	�!� � �� � � � ����	�C=!" =0�

)�� � �� ��	��� ��	�,� � �� � � � ����	�C=!" =9�

8���	!� � �� � � � ����	�C=!" =C�

8���	,� � �� � � � ����	�C=!" =>�

8���	�/ � � � ��	� � �� � � � ����	�C=!" =A�

:��� 	��	��� � � ��� � � 	� 	� �� �� � � � ����	�C=!" =B�

. 	� ��	�*�� � �� ���� � � �	� �� � � � ����	�C=!" =��
�
�
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�&��*���D�

�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������:6�J )
 +
6� ���
	���� �� ��	�R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�
C=0=C=�
�

 

�
� � ����	��	������� ��	���	���� �� � 	���� � � ��� � � 	� ��� � ��	� �	� 	� �2�� ���; 	� �����
O���P��� ����� � � ��	���	��	������� �� ��	�=�
;

�<�� 	��	����	���E ��	��� �	��� � ���*��� ���� � � 	� ���� ���� �� ����������� ��� �� � 	�
O�P�%,C&=�

 

����; 	� ���� � 	����	� 	� �������	��,C��� �� � 	�=�+���� 	��� �� � 	��� � � ��� � � 	2��� �
� � �� � � 	��� ��	�*��� ��� �� � 	������ � �	=�8	���� �� � 	���� � ��� �� � �� �� 	���	��� �
� � � �7 �	������ � �	���
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 +
6� +���
	���� ���� � 	��R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
� � � ����	�C=0=C=�
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8$�� � �	���� �	� �� 	�*��� �� � 	��$� ���� � 	=�<� �� ����������� 	��� �� � 	�' �	�� � � ' �	�
�� �	��	��$� ���� � � �	��	��� �� E � 	��� � �	=�<� �� � ��	��� ����������� 	��� �� � 	�
' �	�� � � ' �	�� ��E �	��	��	��=�
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�
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�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������:6�J )
 +
6� +���+). !R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�
C=0=C=�
�
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Le 	%  ' � 
 �� ��� ' � �� de la balance est affiché. 
�
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�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������:6�J )
 +
6� +���+). ,R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���� � � ����	�
C=0=C=�
�
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Le 	%  ' � 
 �� ��� ' � �� de l'option analogique est affiché, si elle est 
installée. 
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 +
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C=0=C=�
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6g���8���	,R�	��� � ���� ��� � ��� � ���	�� 	� ��Q ? ���� � �+	���R��� ���� � � ����	�C=0=C=�
�

�
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����; 	� �����O���P��� ����� ���� 	���	���� �� � 7 ��	��� � ��	����	��$� ���� � �
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� 	��	��� � � ��� � ��� ���� 	���� ������� ���	��� ����	��� ���� �	��	� �	������ ���� � ���� �� � �	��	��� � � � 	�2�; �� � � ������� ��� � � ������ �����	��
�� �� � 7 ��	���� �� ��� � ����� ���� � � ' �	�� ���� �	=�
�
�� � 7 ��*��� ��� � � ��� � �Q ? ���� � �+	������:6�J )
 +
6� +���8���	�� � � � ��	R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
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 +
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�
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 +
6� +���. �H��� � � �� �	R�	��� � ���� ��� � ��� � ���	�� 	� ��$? ���� � �+	���$��� ���
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(c) Mettler-Toledo GmbH 
    http://www.mt.com 
------------------------ 
 
Date          17.07.03 
Heure           15:28:12 
 
G              0,6056 kg 
T              0,2843 kg 
N              0,3213 kg 
 
************************�

�
�������-���*�&���
�&���
�
(c) Mettler-Toledo GmbH 
    http://www.mt.com 
------------------------ 
 
Caramel 1365 
Toffee Factory 
000124245672 
 
Date           17.07.03 
Heure         15:32:32 
 
G              0.6549 kg 
PT             0.0630 kg 
N              0.5919 kg 
 
************************�
�
�

�
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�
(c) Mettler-Toledo GmbH 
    http://www.mt.com 
------------------------ 
 
Date          17.07.03 
Heure         15:13:51 
 
G              0,4122 kg 
T              0.0630 kg 
N              0,3492 kg 
 
Piece Wt      14.11524 g      
Out of            10 PCS 
QUANTITY          25 PCS 
 
************************�
�

�
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��
�-���*�&���
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�
(c) Mettler-Toledo GmbH 
    http://www.mt.com 
------------------------ 
 
English Toffees 1060 
Toffee Factory 
000124254467 
 
Date          17.07.03 
Heure         13:46:50 
 
G              0,3980 kg 
PT             0.0630 kg 
N              0,3350 kg 
 
Piece Wt      3,450000 g 
QUANTITY          97 PCS 
 
************************�
�
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����� � �� �	���� � ��� $�� �� ��	�' �	��	��� � �	��+� 66=�
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:� � �� � � � 	� ��� �� � �� � � 	�� �� � ���	��� �� 	��� ; 	��L�

<�����	� ��� �� � ���� � �� �� ��	�%� 	��� ��������	���	���� ��� � � 	��� � ��	�2�� �� � ��� 	��� ��
�	��� ��� � ��������� � ��&=�

8	�� 	��� ; � �	�� �� ��	�	����� �' �	� 	� ��� ��� ���� ������	��� � �� � � 	��� �	� ��� 	�
��� �	� ��� � �6� >C=�

+$������ � ���� ��	� 	� ���� ����� �2��	���� �	� ���	��	�� �	2��� �� � ���	��	���� �	� ��� � �%���
�� ��� �	&�	���	���	���� ��� � �	��� ��	� ��E ��	�	� �	�� ��	��� 	��� ; � ���� �� �� � 	� �=�

8� ��' �	��	���� �	� ���	��	�� �	�	����	���� 2�� � �	��	� ��	����� � � ���� � ������� � �	���
)$������	� �4� � � ����$� � 4	�������� ����	�� 	��� ; � �	�� � �	��� ��������� �	� ���	�
�	�� �	=�

. 	��	� �	� ��	���7 ��	� 	� ����� �	�� 	���	��$	� ��	����	�	���	���� ��	� 	� �� ��� � ��
�� ������	��	����� � ���' �	��� � � � 	�� � � ���	���� �	��� ��	���	�� 	��� ; � �	�	���	��
�� �	��	� ���� ��� ���� �=�
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� 	�� 	�� � � ��� �	��	�� � � ��@ �	�%� �	� ��� �� ���� ��� � &�%� �� �	� 	� ��� �	� ��� 	��	� � � �	�� � �� � � 	&�
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/ � �	�� ��������� ����� ��� ��� ���� � ��	��� ��� �� �	� � 	�%� � � ��� �	��	���7 � 	�&�
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�� �	�����	� 	� ��� ��� � � ��' �	��	��� ��� �	�	������ � �� �

�

����� � � �	�

�

5 � �� � �� � ���� �	��� � ���2�� � ��	���0C�� � �� �	� ��� ���  � � �� ��� �	�� D 8%,0C�1�>9���1	��&�

�

6� �	��� � 	�

�
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8� �� � �� � � 	�	�������� 	�	� ���� � �� ���� �	� ��� 	��� �	��� � 	�� � � � � � �� 	�	� ��	� ��� � ��6��. + ,0,� �%� � 6

�? ,9�? =,B&=�8� ��� � ��	���
� � 1�� � �	����� # � �	�	����	�!C�� =�
� ��	���	���� �	��� � 	���	���� �	� �	� ���� ����� ��� �� 	��$�� �� � � � 	� �	����	� 	��	�: ��� �*���
� �� � � 	�=�8	���� ����� ��� � ���	�� ���	��*��� �� � � ������ ��� � ��	���� �	��� � 	���� � ���� � � � 	��� ��� � � ����	�C=�=�
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-�1���

-�� � � 	�!�    �    �    � �1� ��� ��� � �F �
%F B=,? &�

-�� � � 	�,� 
1:� 
1:� 
1:� F �� 	����	�

-�� � � 	�0� . 1:� . 1:� . 1:� -��� �� �	�

-�� � � 	�9�    �    �    �  �� 	����	�

-�� � � 	�C� J ):� J ):� J ):� �1� ��� ��� � � �
%J ):&�

-�� � � 	�>�    �    �    �    �

-�� � � 	�A�    �    � � 
+� +��� � ��F �

-�� � � 	�B�    �    � . 
+� +��� � �� �
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�
�
��������
&,���
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-�� � � 	��� ? � � � ? � � � ? � � �    �

� 
1:�� �� ����� � ��	��� � � � 	�� . 1:�� . � � 	���� � ��	��� � � � 	��

� J ):�� 
	��	��	����� � ���� ��� � � ? � � �� ���� 	� �� ��� � �F C? �
�
�
�*��
�������0=��%$
 ���� � �� � � �� ��' �	$&� ���������������-��%�� ��� � ��E ��	��� � � � ��� 	�*��$� ���� � �� � � �� ��' �	$&�
. � �� ����� � �%� � � � �� �� � �	&��A$" " " �	� 
	� ��� � ��$� ��� 	� �� ��� � ��B=,�? �
. � �� ����� � �%� � � �� � � � �� �� � �	&��0" " $" " " �
��

6� �� �� � � 	��B" � !$" " " �. �

+��� � ���$	� ��� 	�%� � � � �� �� � �	&��!=0�k ? �	� +��� � ���	��� ���	��,�� ? �? �
�
�

� ��  0&&���
�����

�

� �()(���&��

����� � 	���� �1���� ��	�. + � :�� �+/ � ,!0" ,BAC�

� # � �	�. +,0,��� ���� ���� � 	���� �1���� ��	�!=B�� �%��� �� � � 	��: +�� 2�� �� ��� �� ��7 �	&� ,!0" ,�,!�

G � ���	��	���� �	� ��� � ��� ���� � �� � � 	�*��	������� �	� �� ,!," 0," A�

G � ���	��	���� �	� ��� � ��� ���� � �� � � 	�*���� � ����� �	� �� ,!," 0," >�

�� ���� �� " " ,,�!AC�

6� ���� � � �	�U+���� �	��!R2��	���� � ��<. 
 � ,!,C00���

6� ���� � � �	�U+���� �	��!R2��	���� � �<g� ,!,C0A9C�

6� ���� � � �	�QH	� �� �8� �,B99U� ,," " �0,A�
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6� ���� � � �	�QH	� �� �8� �,B,9U� ,," " �0,B�

� # � �	�. +,0,��� ����� ���� � � �	��Q+���� �	��!U�!2B�� �%,C���� �� � � 	��: +�� 2�� �� �� �� ��� &� ,!,C0>AA�

� # � �	�. +,0,��� ����� ���� � � �	��QH	� �� �8� ====U�!2B�� �%����� �� � � 	��: +�� 2�� �� �� �� ��� &� ,!,C,CBB�

� # � �	�. +,0,��� ���,	�� � �� � � 	�!2B�� �%��� �� � � 	��: +�� 2�� �� �� �� ��� &� ,!,C,CBB�

� # � �	�. +,0,��� ���� � �!2B�� �%��� �� � � 	��: +�� 2�� ����� �� ��7 �	&� " " 9!" " ,9�

. 	�� ��� � 1�8�  6�
 � ,!," ,,!A�

� �� ��	��� �� �� ���	�� +�,�%�	���� � �<+&�� ,!�" " �99�

G � ���	��	���� �	� ��� � ��� ���� �� ��	��� �� �� ���	�� +�,� ,!�" " �9C�

8	� �	����	�� � �	��*�� � ��	��� +�,�%� �	� �� # � �	�	� �3 ��� ����� � � � ��	� 	� ���$�� �� �� ��	��� +�,&� ,!�" " BB!�
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8	��� � � ����� � ����� ��� �� � ��	������� � �	���� ��	� ��E ��	��� ����� ��	���� ����	�� 	���	��� �� � � � �� �� � ��� � �	� ��	��� �� � �� � � 	�	���� �� � ��
�
• 8� �� � �� � � 	��� ���E ��	��� � � � ��� 	�� ��� � ��� ���� �� # � �	�� ���� ���� =�

• 8� �� � �� � � 	��� ���E ��	�� � � ������ 	�	� �� � �	�U:�� �� ��	R�%�� ���� � � ����	�C=�=!&=�

• <� �� � ��� �	����	��	�� �� � ���� ���E ��	������ � �� �	������	�� � �%�=�	1=�UG ; �	��
	�� �� � �R&=�

• 8	���� �� � 7 ��	���	�� � � � �� �� � ��� � �%���	��	2��� ���� �	��� � � ��@ �	��	����1&��� ��	� ��E ��	��� ��� �������	��� E � 	���� �	������ � ��
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������	��	���� ����� ��� � ��	�X;�*����$R2�U;�*�����R2�	��� 	��� �� 	���� ����� ��� � ���	�U;�*�����R=�8	���� �� �� � ��� � ���� �� ���� 	�������	��
�� ����� ��� � ���$�� �	��� � 	��� � ���� � � � 	���� � ���	��� � �� 	� ��U/ 
�+6� +�. 	�	�	� � 	�/ � � �� �R�%�� �=�A" C!B92������ � �� �	��� �' �	� 	� ��
	� �� � ��� ��&=�
�
;

��<�
• � � � ' �	� ���� 	��	� � � � � � � �	��� ��� E ��	� �	�� �� � 	��� ��U��KU�%K�%� � ��	��� � �� � ��*� �� � �� �� � 	�U�� ��� 	R� � ��U. 	���� R����

� �� ��	���$�� �� � &=�8$�� ����� ��� � �	���� �� ���	1� � ��� 	��� � � ��� �	� 	� �=�� � ���� � ����	���� 	����� 	2����	���� � � 	��� ��	��	��� ��� �����
�	�� � ��	� ��	� ��7 �	� 	� �=�

• � � ����	���� ����� ��� � ��� � � �� ��� � ���	���� �� � 7 ��	�2��	��; � � � �	�UW R��� ���� 	��� �	��� � 	2�	���	��	1	� ��	���� ��� ����	��	� ��
�� �' �	� 	� ��*��������	���� ��; � �� 1	=�

• � � ����	���� ����� ��� � ��� � � 	����� � ���	���� �� � 7 ��	���	1�	2��	�������	� 	����� ��	� ��E ��	�������� ���� ����� ��' �	��*��� �� � �� � � 	�
' �$����	� ��� � 	� ���� 	�� � � M� 	��	��	1�	�	��� � � ��� �� ���	��� �� � 7 ��	=�

�



� � � ����	�A��� � �� � �� �����' �	���	� � � �' �	�2��� �	��� � 	��	��� � � 	��� ��	�� / �

8�. �

 8�:
 �? ��	��+� � ���� � �� ��

" �

�

? � ������ ��	�	� �� � � ��7 ���� 	�����	��	���� ����� ��� � ��/ 
 +6� +�����	��	� �� � � ��	��
�

6" � 6� �	��� �� ��� � ��	��� ��	���	���� ����� ��� � ��/ 
 +6� +��� ��� � 	� �� 	�=�

6!� 6� �	��� �� ��� � ����� ��	� ��/ 
 +6� +�	���� ��	���� � �/ 
 +6+� +=�

6,� 6� �	��� �� ��� � ��	���� � � � 	���	��� �� � �� � � 	=�

60� 6� �	��� �� ��� � ������� ��	���� � ��	��� ��� �	���	��� �� � �� � � 	=�

69� 6� �	��� �� ��� � ����� �� � �� ��	��� ��	=�

+� �� �� ; 	���� 	��� �	����	��� ������� � �	=�

+6� �� �� ; 	���� 	��� �	����	��� ������ � � ��� �	� 	� ���� � ���	� ���� � � ��	��	��� ���� � ����� ��	��� �� � �� � � 	=�

+6. � �� �� ; 	���	���� �	�����	��� ������ � � ��� �	� 	� ���� � ���	� ���� � � ��	��	��� ���� � ����� ��	��� �� � �� � � 	=�

H� / 	���	��� �� � �� � � 	�*�� � �� =�

H6� / 	���	��� �� � �� � � 	�*�� � �� ��� � � ��� �	� 	� ���� � ���	� ���� � � ��	��	��� ���� � ����� ��	��� �� � �� � � 	=�

l� . 	� 	���	� �� � � � �� � � 	��� � �� �$� �� �� � d � 	��	� �	� ��� ��� ��� � ��7 �� �� � � ��	�	� � � � �� � 	2� � � ����� � ��	��	� ��	�� �� � � ��	�*�
� � �� =�

:� �� ���	��	��	1�	������$� ���� � � �	��	��� �� � �� � � 	=�%�=�	1=�:W U�	1�	R&=�

:X � . 	�	� ���*��$� ���� � � �	������ ����� ��7 ���$�� ����� ��� � �:=�

g� � � � �����	��� � � ��@ �	��	��� �� � 	=�

+. �
�� �� ; 	�� �� � �� �	��� ��� �� ���� ��� � �	� � � ��	�� ����� � � � ��� �	��	� 	� �� ' �� � �� �	� � � � � �	� 	� �� �	� �� ���� 	��� � �� �� � ��
���� ��	���*��� ��� �	������ �� ��� �	=�%�=	1=�+. W !" =" " W �&=�

�


� 
� �	���� �� � �� � � 	=�


�� 6� �	��� �� ��� � �� ����� �� ��� ���� � ��	��� ��� �	�������� �����	��� ��� �	=�


�� � ���� � 	��� ��� �	����	��� ��� �	=�


6� 
� �	���� � � ��� �	� 	� �2�' �	��� ��� �	���� � ��	��	��� ������ � �	�� ��� � � =�

� ,� 8� � � 	��$� �� �� � � � �	=�

6!" � 6� �	��� �� ��� � �� ���� ��� ���� � ��	��$6:��	��� �� � �� � � 	=�

6!!� 6� �	��� �� ��� � �����; �	��	�� � �� � � 	=�

:�
� 6� �	��� �� ��� � ��	��� ��� �	��� ��� 	������� �� � �� � � 	=�

� !" " � 6� ��	���� � �����	1�	������$�� ���� � � �	=�%�=	1=�� !" " W U�	1�	R&=�

� !" !� 6� ��	���� � ��	��� ��� �	������ � �	�� � ��	��	������ ���=�

� !" ,� 6� ��	���� � ��	��� ��� �	�������� ����� � ��	���� � ���	� ���� � � ��	��	��� ���� � ����� ��	��� �� � �� � � 	=�

� X . � / ��	�	� �� � �� � 	�	��� ��E ���	��� �� � �� � � 	=�

+
� �� �� ; 	���� 	��� �	����	��� ������� � �	�� ��7 ��� �� ���� ���; � ������� ��� �� � 	�O P�=�


6/ � 6� �	��� �� ��� � ��	��$� 	��	��� ��� 	������� �� � �� � � 	=�

+<� �� �� ; 	���� 	��� �	����	��� ������� � �	�� �	� ��$�� ��� �� � ��	��	� 	� ��� ���� � � 	=�

+6<� �� �� ; 	���� 	��� �	����	��� ����� �	� ��$�� ��� �� � ��	��	� 	� ��� ���� � � 	��� � ���	� ���� � � ��	��	��� ���� � ����� ��	��� �� � �� � � 	=�

+6. <� �� �� ; 	���� 	��� �	����	��� ����� �	� ��$�� ��� �� � ��	��	� 	� ��� ���� � � 	�	���� �� �	�=�

+. <� �� �� ; 	�� �� 	� �� �	��� �	� �� ���� ��� � �	� � �	� � �$�� ��� � � � ��	��	� 	� �� � ���� � � 	� 	�� �� �� �	�� ��� �� � �� ��� ��� � � ����� ���� 	���
� �� �	�� ������ ��	��	�*��� ��� �	������ �� ��� �	=�

�


 ���	��	���� ����� ��� � ����� � �� ����/ 
 +6� +2�+� � ���� � �� ���� ��� ���� �� �	� 	� ���	���� ����� ��� � ������� � �	���� ������ �� ���	��� �	� ��� �
� � �� � � 	��

/ " !� 6� �	��� �� ��� � � � �� �� ��� ���� � � ��� � � �	� �	� �	�� �	� %$? ���� � � +	������ -�8�)� ���� D ����	��� � �� � 	��$�� � � � ����	�
C=9=>&=�

�

/ " !�� 6� �	��� �� ��� � ����� � �	��	��	�� �	=�

/ " !W " � � � �� � � ��	��� � �	��	��	�� �	�����U<� ��	��	�R=�



/ �

8�. �

 8�:
 �? ��	��+� � ���� � �� �� � � � ����	�A��� � �� � �� �����' �	���	� � � �' �	�2��� �	��� � 	��	��� � � 	��� ��	��

� "!�

�

/ " !W !� � � �� � � ��	��� � �	��	��	�� �	�����U�� �� �	R=�

/ " 0� 6� �	��� �� ��� � �� ���� ��� ���� � ��	�� � �� �� ��� �%$? ���� � �+	������-�8�)� ����H� �� ���H� �� ���� �$��� � � ����	�C=9=9&=�

�

/ " 0�� 6� �	��� �� ��� � ����� � �	�� � �� �� ��� =�

/ " 0W " � � � �� � � ��	��UH� �� �� ��� R������ � � =�

/ " 0W !� � � �� � � ��	��UH� �� �� ��� R������ ��=�

/ " �� 6� �	��� �� ��� � � � �� �� ��� ���� � � �	� �$� �� �� ��� � � � ��� ��	� �$� ���� � � �	� %$? ���� � � +	���� �� 
�. / 6)�8� �� ���� �	��� ��
� � � ��� ��	$��� � � ����	�C=>=0&�

�

/ " �� 6� �	��� �� ��� � ����� � � ��� ��	��$� ���� � � �	=�

/ " �W 1� . � ��	���	�� � � ��� ��	��$� ���� � � �	�����1Y2�1��� ��� � ���� ��	���	�" �*�!" " =�

/ !" � 6� �	��� �� ��� � �� ���� �	� ��� � ��	��� ��� ���	��$� ���� � � �	������ ����%$? ���� � �+	������
�. / 6)�8������� �	��������� � � �	�
�� ���$��� � � ����	�C=>=C&=�

�

/ !" � 6� �	��� �� ��� � ��	��� ��� ���	��$� ���� � � �	������ ���=�

/ !" W " � +� �	� ��� � � 	���	����� ���� � � �	������ ���=�

/ !" W !� +� �	� ��� � � 	����� � ��� ���� � � �	������ ���=�

/ !!� 6� �	��� �� ��� � �� ���� ��� ���� � ��	��$� �� ��������� � ���� � � �	�%$? ���� � �+	������
�. / 6)�8������� �	�����-��$��� � � ����	�
C=>=A&=�

�

/ !!� 6� �	��� �� ��� � ��	��$� �� ��������� � ���� � � �	=�

/ !!W " � . � ��	���	����� � ���� � � �	�����
 ���

/ !!W !� . � ��	���	����� � ���� � � �	�����
 � =�

/ !9� 6� �	��� �� ��� � �� ���� ��� ���� � ��	��� ��� � ��	�%$? ���� � �+	������
�. / 6)�8������� �	�����8� � ��	$��� � � ����	�C=>=!!&=�

�

/ !9� 6� �	��� �� ��� � ������ ��� �	��	��� ��� � ��	=�

/ !9W 1� . � ��	���� ��� � ��	������� ��� �	���12�1��� ��� � ��E ��	��

� " �Z ��� ��� ���

� !�Z ����	� � � ��

� ,�Z �D �� � ( � ���

� 0�Z ����� �� � ��

� 9�Z �6�� ��	� �

� A�Z ��� ��� ���<+�

�

/ !>� 6� �	��� �� ��� � �� ���� ��� ���� � ��	��$� �� ���	��	���	�%$? ���� � �+	������
�. / 6)�8������� �	�����? 	���	$��� � � ����	�C=>=,&�

�

/ !>� 6� �	��� �� ��� � ��	��$� �� ��U�	���	R=�

/ !>W 1� . � ��	���$� �� ��N�	���	N������� ��� �	���12�1��� ��� � ��E ��	��

� " �Z �
 ���

� !�Z �!�� �� ��	�

� ,�Z �0�� �� ��	��

� 0�Z �C�� �� ��	��

/ !�� 6� �	��� �� ��� � ������ �����$� �� �� � � � �	=�

/ ,!� 6� �	��� �� ��� � � � �� �� ��� �	� �	� U<� ��� !R� %$? ���� � � +	���� �� -�8�)� �� �� ����� � � �	$�� � � � ����	� C=9=,&� 	�� �� ��� �
�$� ���� � � �	=�

�

/ ,!� 6� �	��� �� ��� � ��	�U<� ��� !R�	��� ���� � 	���� ��� =�



� � � ����	�A��� � �� � �� �����' �	���	� � � �' �	�2��� �	��� � 	��	��� � � 	��� ��	�� / �

8�. �

 8�:
 �? ��	��+� � ���� � �� ��

""�

�

/ ,!W :	�W 1� . � ��	���$�� ��� �U:	�R������� ��� �	���1�� �	� �

� :	��� 1��

� " �Z �<� ��� �!� " �Z ���

� !�Z ������ � 	���� ��� � !�Z �S ��

� � ,�Z ���

� � A�Z ��� �

� � B�Z �� � �

� X � 6� �	��� �� ��� � �� ���� ��� ���� � ��	��� ��� �	�������� ������ ��� ��	�%� � ; 	� &=�

�

� X � � 6� �	��� �� ��� � ��	��� ��� �	�������� ������ ��� ��	�%� � ; 	� &=�

� X W �� �W �� ��� :� ��� ����� ��� �	�������� ������ ��� ��	�%� � ; 	� &=�

�

�1	� ��	�� � X �!" " =" ���

. �D � +� ���	��	��� �' �� � ���� ��	��� �� �	� � 	=�

�

. �D W 1� +� ���	��	��� �' �� � ���� ��	��� �� �	� � 	�

�

�1	� ��	�� . �D �!" � %)� �	��+��Q . �D U�	����� �����	��2��� ��� �	����� ��� �	��� � ��? ���� � �+	������������ � ��� � ���
� � � � � ��� �	���. 	�W V R��� � � ����	�C=C=>�	���������� 	�� � � � 	��� �	����	��� �� �	� � 	&�

�

� � +� 6� �	��� �� ��� � ����� � � � �	��	���7 � 	�������� �� � �� � � 	=�

�

� � +� 8	�� � � � �	��	���7 � 	����� �	� �	�������� �� � �� � � 	�	���� ���� � � =�

60!� 6� �	��� �� ��� � �� ���� ��� ���� � ��	��$	�  �E �	�	� �	������ 	��� ����	���� ��	���� � �=�

�

60!W 1� � 6� �	��� �� ��� � ��	��� ��� ��� ���� � ��	��$	�  �E �	��� ����� ����� 	��$	�  �E �	�1=�

60!W 1W R�	1�R� :� ��� ���� � �����	1�	��� ����� 	����� 	��$	�  �E �	���� � ���' �	�� �	� ��

1� !==C�

�	1�� � � � � M� 	��	�� � �� � �7 �	��� � � �� ��� � ��� ��� � 1�� �� �,9�� � �� � �7 �	�=�

�

�1	� ��	�� �

0!W !W U/ 	���	� 
� �	�� �J � � G �

60!W ,W U<=��=�/ � �	��	��	� �09R�

60!W 0W U: A,9CB���� ��� ��R�

60!W 9W U
	�	�� � �%" &A90!���!9�" R�

60!W CW U6� �	�� 	��] ] ] =� �=� � � R�

+X <� � � � � ��� ��� � ��	��$� ���� � � �	��	��$�� ��� ��	�U<� ��� !R�*�U<� ��� ,R�	����� 	��	��� =�

� . )� 8� � � 	���N�� ��	���� � ������ ������� � �	�� ������ � � � �	��	���7 � 	��� � ��	�=�

6� � � � � � �����	���$�� ��	���� � ��	��� � � � ���� 	�%$? ���� � �+	������� 
 / / <)6� �
6
 )+���:	�=�� � � M� 	$=�

�

6� � W b � �� �� ; 	�� � 	��	� �� ����� ��� � � �� ��� � � �	� ��� �� 	� �� �� � �	� �� �� ���� 	� �	� �� � � � �� � � 	� ���� �� � � � � �7 �	��$������	��
�$�� ����� ��� � �6� � �/ 
 +6� +=�

+6G � �� �� ; 	���� � � ��� �	� 	� ���� ��� �	�������� ����� � ��	��	� �� � �	�� � � ��@ �	2�� =*=�=�� �	� ��� ������� � ��	��� �� ����� � 2��� � ��
�	� ���� � � ��	��	��� ���� � ����� ��	��� �� � �� � � 	=�

+)+� � 	�� 	���	�� � �� ��	� 	� ��	� ��	��� �� � �� � � 	�!�	���� �� � �� � � 	�,=�

+)+�1� 8� �� � �� � � 	�1�%!�� ��,&�	���� � � � � � �� 	=�



/ �

8�. �

 8�:
 �? ��	��+� � ���� � �� �� � � � ����	�A��� � �� � �� �����' �	���	� � � �' �	�2��� �	��� � 	��	��� � � 	��� ��	��

� "#�

�

. +
� . � �� ���� ���� ��� � ��	��� �� � �� � � 	=�

�

. +
� 8� �� � �� � � 	�	����� �� ���� ���� 	=�

� <� 
�� � �� 	���$�� ��� ��	��� � � � ���� 	�� �	� ��� ��� �	���
� <�+� ? � �	���<� ��� � � � ��7 ����� � ����� ��� � �

� <�:� ? � �	���<� ��� � � 	� �� � ��	� 	� ��

�

�1	� ��	��

� <�+�� ," " �� 7 ��	��

�/ . � :���� � �� �	��� �' �	� 	� ��� �	� ��	��� � �� � � 	���� �� 	���$�� 	�� � � � ��	�� ��� �=�� 	��	�� � � � � � �	��	�� 	��*��$������� �	���
�	���� � �� 	���	��	����� �� � ��	���� � � � 	��	� �	������ 	���� � ���� �� � � � ��	�� ��� �=�

�1	� ��	���

�/ . ��88�� � � 
�� � �� 	���	��� ����	��	� �	�����	� 	� ���

�/ . �8�+
� � � 
�� � �� 	���	��	��	�� �	��	� �	�����	� 	� ��%�	�������� � 	� �&�

�/ . �D 6. +
� � � 
�� � �� 	���	��	���	� �	��	� �	�����	� 	� ��%�	������� � � �	� &�

�/ . �6:�!" " " �," " " � � 
�� � �� 	���	��	��	� �	�����	� 	� ����� ��� � ���	��� �� � �� ��!" " " �*�," " " �

�/ . �:
�" >=" ,=" 0� � 
�� � �� 	���	��	��	� �	�����	� 	� ������>=,=" 0�

�/ . �
/ �" B�" " �" " �" ��" " �" " � 
�� � �� 	���	��	��	� �	�����	� 	� ������ � S � ��	� ��	�" B�" " �	��" ��" " �

�/ . �+�,�� � � 
�� � �� 	���	��	��	� �	�����	� 	� ����	��� ��	� � � �	�� � �� � � 	�

�/ . �)�!�,� � � 
�� � �� 	���	��	��	� �	�����	� 	� ����	���� ����� 	����	�!�*�,��� � ���$�� ��� ��
� � � � � � ��	��	�

�/ . �
��" =!�" =,� � � 
�� � �� 	���	��	��	� �	�����	� 	� ����	���� �����	��� �	��	�" 2!�*�" 2,��� � ���
� � � � �$�� ��� �� � ��	��	�

�/ . �� 
�!� � � )	���� � �� 	���	�' �	��	��	� �	�����	� 	� ���� �	� ����  �� �	�

�/ . ���<V ��� � � 
�� � �� 	���	� �� ��� �	�� 	� �	�����	� 	� ��� �� � �� �	� � � � � �� � � � ��� � 	� �� ��	�
� � � � 	� � 	��� ����

�/ . �+�� �UaU� � � :� ��� ����	��� �� �� �	����	��� � � � ����	��� � � � 	�=�

�

� 	���� ����� ��� � ��*��� ������	��/ . �6:��	��	� ��� �� �	� 	� ��E ��	�� � � � �� � 	�=�8� ��; � �� 1	������ � �	�	���� ��� ���� 	��

�

�/ . �6:�!" " �," " �:
�" !=" C=," " 0�0!=" C=," " 0�
/ �B�" " �" " ���" " �" " �+�,�)�!�0�
�" =C�!�� 
�!��<V �-�

�

8� ��� �� � �	�� � � �� ��	��� �4� �����	���� � � � 	���� �� �� 	���� ���	��	��� � 	�=�

+; � �� 1	��

�/ . �-�)j �:� �	�G 	��	�)	��
� �	�m � n 
�-� �� � � 	�� � � ��� � 	� �o � �c o 8�c �

�/ . ��� � 6� ����� ��� � �	1� � ��� 	2�� $	�� * ���	���� � �� ����� � ��	�� �� � 	�

�/ . �8� � 8$	� �	�����	� 	� ��� $	1���	��� �2�� $	�� * ���	��	�� j �	���" �� ������ ��	���� ��� � � � �	�� � 1�� � ���
� � �$	� �	�����	� 	� ���

�/ . �6� � 8$	� �	�����	� 	� ��� 	��	����� ��E ��	����� � ��	� �	� 	� �� � �

)� �	��+� � � � � �� ' �	��/ . � D 6. +
�	���/ . �8�+
� � 	� ��� � �� 	���	� ' �$�� ��	���	� �	�����	� 	� �2� ���� �� �� � �	� �� �� �4� ����
�� ���$��	� ����� � ����� ����	���	�-��

�

�/ . ���)j �:� �	�G 	��	�)	��
� �	�m � n 
�-� �� � � 	�� � � ��� � 	� �o � �c o 8�c �

�
�



� � � ����	�A��� � �� � �� �����' �	���	� � � �' �	�2��� �	��� � 	��	��� � � 	��� ��	�� / �

8�. �

 8�:
 �? ��	��+� � ���� � �� ��

#$�

�

�

� ��  �(&����
�
�����&
�)
���
(�

�
)� ��2�/ 	���	� 
� �	�� �%��� ��� ��&�J � � G 2�<� �	���	� �/ � �	��	��	� �092�: A,9CB���� ��� ����� � �� �� � ���� ���� � ��	��	��	�
�	��� � �� � ����� �' �	��	���� �����
�
? ��	��+� � ���*��� ��������� �� � �� ��	��� ��	�,C!!0B" 2�
�
� �' �	���� ���� �	� �	��� � �� �� ��� � ��	��� �7 �	2�	���� � � �� �� 	�� �1����	� ���	��	��� � �� 	������� � �	���
�
:��	� ���	� )� �� 	�� ����� � � �	�
�
�	�� ���	�� ��� � �� ��	��� �	� ���' �	��	���� � �*�E ��	�	� ��� ; � ��� � ��
� 	��� �� 	����� ��	���	��	� ��� � �
%A0�,0�� ��a� � 	� �� 	��� ���� ����	� ���	��0�>B�� ��&�
�

�
�)>!" !"  !�%. � ��	� 	� �� ��� � ���	��� � ����� &�

�
�	�� ���	�*��� �� � � �� ��� ����� �� �	� ��� � � �� � ��' �	�
%B��00>�� ��a�� � 	� �� 	��� ���� ����	� ���	��0�>B�� ��a�
�,�0!�� ��&�
�

�
�)>!0,> !�

�
�	�� ���	�� �1��� ����� 	� ����	��	�� �	�*��� � � ��� � � 	� 	� ��� � �  
� ��� � � ��' �	�

�
�)9CC" !�!&��%���	� ���� � ��� �� ��' �	�&�

%�" �0B9�� ��a�� � 	� �� 	��� ���� ����	� ���	��0�>B�� ��&�!&�

�

�
m �� � � 	n �!&�
m � � �	n �� �

�
�
1) ������ � � �	��� �' �	� 	� ��� �1�� � �� � � 	���� ����� 	��%� 	������ � ���$� ���� � � ��� � ��	���)� �
CC" B��� ����	��� � �� � � 	��� �	� �� 	����	��

*�4� ��	��	�� � � ��� �� �	2�
C>,A��� ����	��� � �� � � 	��� �	� �� 	����	��U/ � � � -�� � R&= 

�
��� ��� ��2�K ����	��," " ,�� / 	���	� 
� �	�� �J � � G �
�

�
�

. � �� � ��+� � � ��	�2�:��	� �	���J � � � �� �� G 	�S � �� � ���2�/ � � � �	��' �� ���� �



/ �

8�. �

 8�:
 �? ��	��+� � ���� � �� �� � � � ����	�A��� � �� � �� �����' �	���	� � � �' �	�2��� �	��� � 	��	��� � � 	��� ��	��

� #��

�

�
;

�����
�
��
��&
�&�����
��������
�����
���������-��*(��)�(�������������6�����������
�

M
�

8	���� ����� 	� ����	��	�� �	��� ����� ������ �	����	��	���� ��� ��� � ��� ��	� ���� �� � �' �	���� � � �	� �	������$	� � � ��� �	�	��
�� �� ��� � � ��� � ���	���U/ R������� ���� ' �	����� � �� ��' �	=�6����� � ���� � � ��� �	� 	� ��� �� �� ��� � � 	��=�

M
�

8	���� ����� 	� ����	��	�� �	��� ����� ��	� ��	�1�� �� �	��� $� � ���� ���$� ��� � � ��� � ���	���U/ R������� ���� ' �	����� � �� ��' �	�
	���	����	� � � ��� �	��� 	��� ��	� ���� ���� �� � �' �	������� � ���	���� � � �	� �	=�8� ��	� � � �	�� �� �	��	��� ��� ����� � ��� � ��� ���
E ��	�	1� � ��� 	��� ���	��	���� 	�� ��� 	�/ 	���	� 
� �	�� �� ���� ���	��� ��� ���� ��� � � �� �	� �	���� ����	���� ����	��� 	���	�=�
? 	����	� �� � � �� � �	���� ��	��� �	��� � ��	���/ 	���	� 
� �	�� =�

�
8� � ��	� �7 �	� � �� �	� �	� �� � �� ����� � ��� � � � � � �� � 	1� � ��� 	� �� � �� �$���� 	� �	� �� � ��� � ��� � =� � 	��	 � �� �� � ���� �$	� �	� � �	� �	�� �	����
� � � �� �� � � 	� ��*��)9CC" ! B=,=,=�
�
+���	���� ��	� 	� �� ��� � ��� � ��� � � �	���	������� �	� ����� ; ����� ��	� ���� ��� ��� �	��	��� ������ ��	��� ��� ����� � ��� � 2��$	1��� ��� � ���$�� 	��	��	�
� � �� � � 	�	������ � E � 	��	��� � �� � �	��	��� ��� ��	��	�� ����	��	� ��	� �������	=�
�
�
�
:7�/;� � � � � �


� ���	' ���� 	� ��� � ��� 		� ��	��	��� � ���� �� ���� �� � � ��; �] ��� ��� 	���� ������ ��� �� �� ����������� ���	��� 	2������� � ���� �� � �� �� � ���	�
!C�� ���� 	�D � � �. ��	��� � ���� 	��� ��� ��� �	��	�	� � 	��	���� ��� � ��� ���� 	�� � � � ��� � �:	�� ��� 	� ��� ��� � � � �� �� � ��� � �=�
� 	�	���� ����
� �	��	���� 	���� ���� ���	��	� �� � � � �	���� �	� ��� � �� �� �� ���� � �� ������ �	��	�	� � 	�] � 	� ��� 	�	' ���� 	� ������ �	�� �	���� �� �
� � � � 	�� �� ��	� ���� � � 	� �=�
� ���	' ���� 	� ���	� 	�� �	�2���	��� � ��� � � ��� ��� �	��� ��� ���	' �	� � ; �	� 	��; �� � �2����� � ���� ��� ��	��� � ��
��	���� �� � � � ��� � � 	�] ��� ��� 	��� ����� ��� � �� � � �� �2�� � ; �� � ��	�� � �� ������ �	��	�	� � 	��� ��� ��� �� � � � �� �� � ��� � �=�
 �	�� ��� � �� ��
�� ���	' ���� 	� ���� �� ��	���	� ��� ��� �	� ������S 	�; ��� �� � ��	�� � �� ������ �	��	�	� � 	2��� �] � �� � �� � �	��� 	���	��] ����� 	��	' ���	���� �� � ��	� ��
�� 	��� �	��	�	� � 	�� ��� ���� ] � �	1�	� �	=�
�
� 	��� ��� �	���� �� �� ��	��� �	���T	���� �� �� �� � � �� �� 	�� �1���� ��	����� ��	���� ����	��� ��� �	����� �� � ��' �	���	�� �� ��	���	��*��� �
�� ���	�!C��	���7 ��	� 	� ���D � � �	��*��� ��� ��	� 	� �� ��� � ��	���� ���  6� �	��� �	� � 	������ � � � ��� � �:	�� ��� 	� ��� ��� � � � �� �� � ��� � �=�
� 	����� ��	���� � ���	���� � 	��*��� ��� ����� 	���� �	� ��� � �� �� ' �� �	�� � � ��	��	���� �	��� �	� � 	��� � �� ��	���� ��' �	��T� ��� �	���	���������� �
�� � ���� �	� ���� � � 	� 	� ��� � � � 	�� �� �=�� 	��� ��� �	����� � 7 �	2�������	�	���	����� ��	���� 	�� � 	���	�*���� ' �	� � 	��� ��� � �	� ���' �	�a����
	���	� �� ���	����� 	���� �	��T	� �	� ��	���	���� �	��� �	� � 	��� �	� ��	��� � � � �� �� � ��� � ���� ��� 2��T���� T	����� ���� ��� ��� �	��������� �
� � � �� �� � � 	� ��� �1��� ����� ��� � ������ � �	��T	� ��� �=�8T������� ��� � ��	�� 	��� ��� �	����� � ���	��� � � 	���� ���	� ��	��	���	���� � ��	��
�	���� �	��� �	� � 	��� � �� ��	�2�� �' �	��� � ���T	1��� ��� � ���	�� �� � 	� � �*���	� ��	��	������� ����� � ������	���� ����� ��	��� �1�
�� �	��� �	� � 	��*��	����� ��	����� ��=�
�
:�	�	��J 	�p ��] ���	��	�	��	���� �������� �q � 	�	�� ���� � �� ��� ����	� �J �	� � ] 	��	� ��r �������� �	�J 	�p �	��	��g�� ��	���	� ����	� � 	� ��
�	� �D � �  �? � ��� � ����	� 2�
	���!C��� ���	� �-	���� � �� �	� �� 	� r ���� � �G � � � ��	' �	� � ��s ��� �	� ��	��� � � � ��� � �:	�� ��� 	� ��� ��
� � � � �� �� � ��� � �=�:�	�	�J �	� � ] 	��	���� ��� ���	��	���2��� �	�� 	� �� ���	�� � 	� �	� �+� � ��� ��� ��+�s ��� �	� �� 	��)��� �� ���	��
J 	�p �	��� �	�� 	���	] 	�� ��� � 	� �<� �	� �� ��� ��� �	�	� =�:�	�	��J 	�p ��	�� 	���2�� ��� ���� ��S � � � �	�	S ��� � � �� 	���� � 	��� 	���	�
� � �	� 	� ��� ��� 	��)�� � �� 	� � � ��� ���	������ � � ��� ��)��� �� ��� �� ] 	��	��	��-	���	� �� � �	���� ���	� �D �� S �	�S 	� ��
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